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Q1. 97 HUfrAT & 3aTeX0T § -Examples of current assets is /are:  (a) Uhs (Cash)  (b) 3ifd#
Tgfaar (Closing Stock)  (c) ¢slgR (Debtor)  (d) <11 T3 (All of these)

Q2.91cd e &1 o@r fhg @ & giar g?(Discount received is included in which account ?
(a) 8T BT W@rar (P/L Account) (b) 3nf¥e-fcar (Balance Sheet)

(c) SIUR @rar (Trading Account) (d) 31T - <gF Erdr (Income Expenditure Alc)

Q3.=99R @1ar fha 9&R &7 @1ar g ? (Which type of Account is Trading Account ?)

(a) =afFd9ra @rar (Personal Account) (b) arEdfaes @TT (Real Account)

(c) ATHATT &1 @Wiar (Nomianl Account) (d) 3ded @rdl (Suspense Account)

Q4. Ife TAshT 5500 Fo TAT Hbel olrdd 1200 Fo & dT ST I AT HI oeTd &1 g ? (If sales is
Rs 5500 and Gross Profit is Rs 1200 what is the cost of goods sold ? (a) 4500 o (b) 6700
Fo (c) 4300 ®o (d) 5500 ®o

Q5.fAFT 7 s & 39T wFafr § ? (Which of the following is Intangible Assest ?)
(a) 91f# (Land)(b) Ea1fd (Goodwill)(c) #asT (Building)(d) ®eifer (Furniture)
Q6. T & ¥ +iT a1 adT g7 &r & ? (Which one is not a Financial Expense?)
(a) FUT 9 sI1ST (Interest on Loan ) (b) fl"\\_rﬁ ¥ I751 (Interest on capital)
(c) eI (Charity) (d) & @< (Discount Allowed)
Q7.t% A 99w W it Tufa 3R arffica &1 IRir 8- Is the summary of all assts and liabilities
(a) degc Trial Balance (b) @meT gIfer W Profit & Loss alc

(c) f[dcar Balance sheet (d) 318 TT All of these
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Q7. Ush <o HU 180 §- ..is not a fixed asset (a)UHsCash (b_3TFRT HeireR(c) ¥ land (d)
@ All

Q8. 31H i IT SHIIRS W@IdT deIlel HT oS el & Which of the following is not an advantage
of making trading account:

(a) AT T oWETT FI AFARRT knowledge of cost of goods
(b)JetelTcHeh 3EITT comparative study

(c) @I 9T fAAFUT control over expenses

(d)STSIR & #HgIMs UX fAJF0T control over the market

Q9.fAFT # &l & T |Fafr § 2 (Which of the following is tangible Assest ?)

(a) $1f# 3R #aeT Land & Building (b) weiteR 3R e Furniture and fixtures
(c) TIF 3R FAMIA Plant & Machinery (d) a1 T All of these
Q10. d= fARPHY =@OR & foT & Bank overdraft is a ___ for the business.

(@) @I expense (b)3TT income (c) TURT assets (d)eTAca liability
Q11. &aH & Piadr gfaamgs Fr faAwar =1gr § Among the following, which is not a feature of a
Promissory note?

(@) SEH Fael & TeTHR 8ld 2(Only two parties) (b)3¥ deleR for@ar &(written by creditor)

(c)3HH TR HT ST AgT glei(Acceptance not required) (d)SHHA o JTccishell g1 &
dehcT(writer cannot be the payee)

Q12.7au7 @l 31 dr EUfT & fhde ga7 W& &?How many parties are involved in case of

discounting of bill?
(a) & Two (b)disT Three  (c)Us one (d)3rfAT Unlimited

Q13.dceT I 3UERT & o1 J&T H  Fdledl LAl Ig Teh | Posting Salary in debit of Furniture
Alc is a

(a) T 1 3efer Errors of Casting (b)@dlell T 3R[Ef™ Errors of Posting (c) 3T o Sfiel T
eef® Errors of carrying Forward (d) 3131 & @i 161 : none of these

Q14.gur $T TRe ¥ RERTT & Fahell £

(a)uwuefim (b) gfauefim  (c) vwusfT ar gfauefm (d) 397 & g &1 (none of these)
Q15. 3[ag & feeT fhaar fAeld &2 Which of these get days of grace?

B RIGEILE] (b) o (c) I+ (d) &I & &S 7T : none of these
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Q16. S o@sh- X fAHAAIYT & dh @ A1 ST & (When the bill of exchange is discounted
from the bank by drawer X. Journal Entries in the books of A's (af@® & @id H Yfafte &)

(@) B/R .Alc Dr (b)Cash ...A/c Dr (c) Cash.... Alc Dr
To Cash To B/R Discount Alc ... Dr
To B/R

(d)g=Tet & IS G none of these

Q17. 3o S FEufa 7 epordreT v SFaany &1 grel gln condition of dishonour liability of
payment is of .
(a)d(Bank) ( b)EdTRdT( Acceptor) (c)er@eh(Writer) d)3aTH A IS AT

none of these

Q18. g faux &1 e T 9eThR I 99T Y fgar ar3m g 3R fauy smfafsa g sar § ar o

gTold H YA T CaNT ATl fhT ST &
(a)saredrT (Endorcee) (b) SaTiehdl (Endorcer) (c) Tehdr  (d) (d) 3T & HIS G (none
of these)

Q19, , 5l A & B & 9rcg faua WX Elipfd 9red T (When A received acceptance of the bill from
B.) Journal Entries in the books of B's A/c (Fdisdrl & @i & wfafse )
(a)B's Alc ... Dr. (b) A's Alc...... Dr. (c) Cash Alc... Dr.
To B/P To B/P To B/P
(d)3# & HIS AET (none of these)
Q20. de9e & o fAee 9T T & YR & & @1 ST § (In case of non agreement of Trial
Balance the amount is temporarily put to)
(a)elsleR @i # (Creditors Account) (b)¥{-I& WId # (Suspense Account)
(c)T&faar @ 7 (Stock Account)  (d)@TeT gy @raT (P/L Account)

Q21.37¢d STT HI.. (Outstanding Expenses are ...):
(a) STST-TTT @raT & A1 fohar arar § 3R Eufa faaor & geafa awr & fe@rar Smar &1 (... debited to

Profit & Loss A/c and are shown in the Asset Side of Balance-Sheet.)

(b) STH-gIfed @TaT H A7 fhar Sirar g AR Fufa fawor & gifi¥fica # fG@mr Srdr g1 (....debited to Profit

& Loss A/c and is shown in the liabilities side of Balance-Sheet.)

(c) emH-gifed W1 # AT fohar Srar § 3R Rufa faavor & giffica ser & fG@mar Smar g1 (....credited to

Profit & Loss A/c and is shown in the liabilities side of Balance-Sheet)

(d) 38 & FIs FET| (None of these.)

Q22397 3T (Accrued Income) :
(a) T SR @TaT 7 STAT fhar srar § 3R ufa fawer & geafa smer & R@mr Smar €1 (is credited to

Trading Account and shown in the Asset side of Balance-Sheet)

(b) I SMH-gIfr @rar & A forar arar § 3R Reufa faavor & gwafa smer & fe@rar Srar 81 (is debited

to Profit & Loss A/c and is shown in the Asset side of Balance Sheet)
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(c) T SMH-gTTeT @Wid A STAT fRar Srar § 3R Rufa-faaer & gif@ica smer & fG@rar Jrdar g1 (is credited

to Profit & Loss A/c and is shown in the liabilities side of Balance-Sheet.)

(d) 3T & FIS AT (None of these.)

Q23. GHAGT & &F 3'|é 3ifae wiaar (Closing Stock given in adjustment) -
(a) SMTH-BTT @rar & ST v Srar & 3k fufa ot & aifRica st & fR@rar Sirar #1 (is Credited to

Profit & Loss A/c and is shown in the liabilities side of Balance-Sheet.)

(b) SITIR @TaT #H AT fohar Srar g 3R Rufa fGaxer & geafa awer & fg@mr Smar 1 (is Credited to

Trading A/c and is shown in the asset side of Balance Sheet)

(c) eTH-gIfey Wrar & ST aar T fdaver & @eufa smer & R@mar Srar €1 (is Credited to Profit & Loss

A/c and is shown in the asset side of Balance-Sheet.)

(d) T8 & FIS 7AET| (None of these.)

Q24.d% FATY [9aor §A1=T ST § (Bank Reconciliation Statement is prepared by)
(a) I CdrT (Bank) (b) FAER SdI (Creditors)

(c)37heTh GART (Auditor)

(d) S & TITEH SdRT (Customer of Bank)

Q25. S AU [GaRoT s & forw Qw forar Jrar %.(Which balance is taken to pepare Bank Reconciliation
Statement)
BREEHEL qrdgsh 1 Y (Cash Book or Passbook Balance)

(b) GTHER =T QY (Passbook Balance)
(c)oT ar Apg d@r &1 AV 3R o & qrddeh f Ay (Neither Cash Book Balance
Passbook balance) (d) 38 §&r & AV (Cash Book Balance)

Q26. 9THEeh sTehel & (Passbook is a Copy of)

(a) Uhs-98T H S gEaedr SUGgRI &7 (banking tansactions in Cash Book)

(b) STTETT FHT FATT TIfeaar Ta Si?'IT-ﬂFIT T (all the receipts and payments of busin
(c) GHY TG SIIERT &l (all the Cash transactions)

(d)a? CART §eTv I Grar Hr (accounts prepared by Bank)

Q27.3Fm' T FiT Us Ser & faQvar %’ Which of these is the a feature of Cash Book
(a)s'\qff dAdhe AR 3UR Er=gldT oledcar HT @@« fhdle IW@T SATAT & Recording of cash and credit

transactions
(b)fafdar SacaT #r for@er i 3MaeIHdAT ST6T 8T No need to enter transactions date wise.

(c)Ie "eld<sh EI?F CIRCIGE Elff & PR o T %’ Cash Book acts as a Subsidiary Book and a Principal Book
(d)None of these.

Q28. BT Ahs SET T Uhs TAFH I §HLAT BT & (Cash Column of the three columns Cash Book

always has)
(a) STAT 3TTFA(Credit Excess ) (b) @I H & &S TS (Any of the two)
(c) I3 3TTFT (Debit excess) (d)3TH T FIS 8T (None of these)
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Q29.2T qux Tierar & foT (Bills Payable is a/an for the Acceptor)
(a)8T=lT g(Loss) (b) 37T &(Income) (c) Tufd(Asset) (d) 37 F HIs AT

Q30.519 ﬁl’t% I o9 AT SiTdr % Depreciation is calculated only on
(a) TUfAAT (Current Assets) (b)alol T9faAT (Liquid Assets) (c)TATY HfaAT (Fixed assets ) (d)m Fe) Elflé'
8! (None of these)

Q313 & i ey T@r gefd @ aoT sTeT § (Which of these is not a merit of Straight Line Method)
(a)?i'qﬁl' &l Hed FeT AT Gl 8IdT (The value of the asset never becomes Zero)

(b)m B &1 T Aol Fr 3MaTSdT g glar.(No need of calculating depreciation every year

()" qaﬁl‘f?lﬁ g & TfYr et E|§Ff &1 3TTeT g(Calculation of depreciation by this method is very
simple.) (d)3TH ¥ FIS 8T (None of these)

Q32.157=1a3T, 2020 ST Teh HIF 72,000 T. H T THAT AT JAT 3H @ W 3,000 . I gl TIT FT
AT Siiae @iel 10 a¥ g, Toreeh 9T 3afiIse Hed 15,000 %. gl @efr 3@r geufa & 3egar

iy 3K g .(A plant was purchased for Rs. 72000 on 1st January 2020 and spent Rs. 3,000 on its

erection. Estimated effective life of the plant is 10 years with break up value of Rs. 15000, depreciation by Straight
Line Method will be J)

(a)7500 (b)7200 (c)6000 (d)3TH ¥ &S AGT (None of these)

Q33 AN 51 YeHTd & 3ER fhell TURN §ufd & &9 &7 Hod 386 _ a¥ & §ad SI1ar gen
.(In Diminishing Balance Method depreciation value of an asset will maximum in the ____

(a)37Tcd a¥(Last year ) (b) T & ¥ (Middle year) (c) IUH a¥(Firstyear) (d)3AH & Fig
el (None of these)

Q34.37TgX0T 9T ATl & JHATIIG " g (Interest on Drawing adjustment)

(a)tj\Gﬁ' #H SIST ST § (is added to Capital.)

(b)Cj\Gﬁ' H ¥ °erdT AT & (is deducted from Capital.)

(c)Cj\Gﬁ' # ST AT % 3R ATH-BITT @rarT H AT fhar Srar %’I (is added to capital and debited to. Profit &
LossA/c.) (d) ST & IS a8l (None of these.)

Q35.dege # 3fas T@'ﬁ?ﬂ (Closing Stock in Trial Balance...)

(a) P SR W@TAT H FAT HAT SATT & (is Credited to Trading Account.)

(b) IR WIaT & AT dur Fufa faawor & geafa smer 7 fgarar srar gl (is credited to Trading Account

and shown in the asset side of Balance-Sheet.)

(c)aw_clTvr Tufa faavor & Feafa ser # @rr Jrar g1 (is shown only in the assets side of Balance-Sheet.)

(d) 38 & FIS A& (None of these.)

Q36.2M9R @Id & shfsc Y&T T AT sfac 987 & IAer F ™S g o FI7 Hgellal & : (Total of
credit side excess over debit side In Trading a/c is-)

(@) Yy @M Net Profit (b) Hehel @M Gross Profit  (c)Jqcy gl Net Loss (d) @ehel gl Gross
Loss
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Q37. 5AH & PieT AT AT BT WIAT §eIlal T oTH el & Which of the following is not an
advantage of making Profit & loss a/c?

(a) Wehel oI AT E11T T STARNI(Knowledge of gross profitlloss)  (b)aRT & fefRor & gfaem( Tax
calculation) (c)eTaarT @I JaTfd T 1A (Progress of business) (d) T T P
el (none of these)

Q38. HREEAT & fTAFAR #F o9mAr =T 10,000 . Fr A FEFAT TTd A 31T F -7 (Rs. 10,000
spent on extention of factory charged to Repairs Account);
(a)Suspense a/c Dr. 10000 (b)Repairs A/c Dr 10000 (c)Factory A/c Dr 10000

To Repairs 10000 To Factory 10000 To Repairs 10000
(d) 315 & FI$ =Tar (none of these)
Q39.RER3T & AR AT T FRMersT garT &R SITar g(As per Traditional methods
Errors are rectified by )

(a)ufafSedt &1 &lc #T (cutting the entries) (b)ufafeat & fAer #3( Erasing the entries )

(c) 3UgFd FUR & giafseAl(By suitable entries of rectification)  (d) 3= @&l (By All)

Q40.9R A= Twfaar 15000 &0 fassar 25000 #T8T -1500 Tehed o1 9000 T - 13650 dr 3ifasd e
&I IUET AL ? (Opening Stock Rs 15000, Sales - Rs 25000. Frieght - Rs 1500, Gross Profit-
9000, Purchase 13650, then calculate closing stock.)

(a) ® 9630 (b) 14500 T () 15000 &o (d) 14150
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Question Number KEY

1 D
2 A
3 C
4 C
5 B
6 C
7 o
8 D
9 D
10 D
11 D
12 A
13 D
14 C
15 D
16 C
17 A
18 A
19 B

AT
jharnet.com o fb.me/jharnets ﬂ t.me/jharnets



20 B
QUESTION NO, | KEY
21 B
22 D
23 B
24 D
25 A
26 D
27 C
28 C
29 D
30 C
31 A
32 c
33 C
34 B
35 B
36 B
37 A
38 c
39 c
40 D
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Wus— ‘I’ (FIU & d<d)

PART-"A' (Elements of Business)
1. uRe e § 93 &1 RS feu fawmr 9 zgar 27
(Which department keep the record of letter in a business
organisation?)
(A) YA FaeR fd9nT (Co-despondence)
(B) g fa¥RT (Purchaser Department)
(C) T faWRT (Planning Department)
(D) UfdT fORT (Packing Department)
2. SETAd WTeA &1 g 2 ... ?

(Principle of office of organisation is ........... ?)

(A) Be¥g &1 g (Principle of objective)

(B) &= &1 g (Principle of flexibility)

(C) H=ag & g (Principle of Co-Ordination)
(D) =T Wl (All of these)
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3. P v B IURT fha weal 4 g3 27

(How many words are there in origin of office?)

(A) 02 (B) 03 (C) 04 (D) 05
4. DI A1 AUIRSG dEATAT &1 S 21 87?

(Which one is not a function of business office?)

(A) YA U dRAT (To receive a letter)

(B) U= UNT (To sent a letter)

(C) iR (Filing)

(D) 99 (To make decision)
5.  ®IS IIHANG & IMfTHR fHa feanr?

(Who invented Card Indexing?)

(A) U« ARTR (Abe Rosier) (B) U9 (Grace)

(C) = ®Ie (Henry Ford) (D) 9TEH 9 (Graham Bell)
6. agyfaferfevor @1 wed g fafer 27

(The oldest method of duplicating is )

(A) RTeifed yomell (Gelatin Method)

(B) <% wotrell (Lithograph Method)

(C) f~Fa1 gomell (Stencil Method)

(D) 3ifHe woTrel! (Offset Method)
7. A gt A B gt fHaAr Sar 27

(Inward letters of generally received by .............. ?)

(A) STh g (By post) (B) TR gRT (By peon)

(C) IR gRT (By Courier) (D) 79 |41 (All of these)
8. ARIIBIUT BT ST T &7

(What are the objects of Filing?)

(A) =T H UoH & I (Proof for court)

(B) U & AT & ol (Safety of letter)

(C) Jur~a 3maedddr (Judicial need)

(D) TH 4T (All of these)
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9. 399 BISA BT &I 3T 87
(Main file of shannon file is .......ccccuuu.... ?)
(A) 3R (Almirah) (B) dR (Wire)
(C) AgHIH YT (Box) (D) #I< ®ITST /%l (Thick paper)
10. fafr=1 o™l wx 99 Q¢ =l & Jbd S—1HT gsol w® o1 715
39 9 A @ fag i @ srgsmATeEr fafer suarg sy 22
(Which Indexing method is adopted to find on which pages the letters
sent on different dates were copied?)
(A) WTERY AT (Simple Indexing)

(B) &I IAIHAMOIGT (Card Indexing)

(C) =TI AR (Wheel Indexing)
(D) W AIHHATOMDT (Cross Indiexing)
11. M P18 Add e aAT IURATT H18 oI W AgHpaive fafer
@ IATTTIHAT AP 2?2
(Name card Guide Card and Absent card are essential material of

which indexing method?)

(A) ERIHD FIHHTOTRT (Vowel Indexing)

(B) el IhATOTDT (Cross Indexing)

(C) &I IAIHAMOIGT (Card Indexing)

(D) el Brs AR (Visible card Indexing)
12. yfafafer & am 2 ... ?

(Benefits of coping .............. ?)

(A) fasma & wdl 4 Gfaem (Convenience in term of sale)

(B) 3ifeX AFTH H FfAem (Convenience to place orders)

(C) faarsi &1 fuer # Ffaem (Convenience to settling disputes )
(D) TH 1 (All of these)
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13. =1 4 999 qRET Wxa dn wwr gfafafy odq &1 fafer sta—an
87
(Which of the following is the oldest easiest and cheapest copy to get
a copying?)
(A) B ¥ gt (Copying by hand)
(B) <19 ¥4 (Press machine)
(C) red UWR gRT (Carbon paper)
(D) &b T (Zerography)
14.  Wlesx &I YA fHar Smar 87
(Folder is used in?)
(A) @Sl BIsd (Vertical file)
(B) < arell ®wIsa (Tag file)
(C) 399 ®Igd (Shannon File)

(D) Agddrell Bigel (Box file)
15. e wefa 9 yfafafy suanf 282
(Coping by rotary machine is useful for?)
(A) HeHR AUIRAT & ey (For Retailers)
(B) ®Ic mRkal & fo1g (For Small traders)
(C) 9% @UIRAl & fov (For Big traders )
(D) UTERI & T (Customers)
16. AUIR® d&l &I fhad arn A fqurfoa axd 27
(In how many parts commercial banks can be divided?)
(A) 02 (B) 03 (©) 04 (D) 05
17. Ugcll 4R 9&1 &1 IdIHRor fod adf fear ar?
(In which years banks were nationalized for the first time?)

(A) 1979 (B) 1959 (C) 1969 (D) 1949
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18. SI®HEUR ¥9d @Al fead 999 4 §a w4 forar smar 27

(In how much time a post office saving account is considered in

corporate?)
(A) 9 99 (Three years) (B) U@ 99 (Five years)
(C) ¥1d 99 (Seven years) (D) T Y (Ten years)

19. el &l eIl # T I AT 9% adl &2

(Which bank provides long term loan to industries?)

(A) @MUIR® d& (Commercial Bank)

(B) ¥9d §& (Saving Bank)

(C) 3ienfir® 9% (Industrial Bank)

(D) EBRI d& (Co-Operative Bank)
20. ST fa®r U= ATSFT $d < B < 137

(When was India Vikas Patra Yojna with drawn?)

(A) 1988 (B) 1999 (C) 2001 (D) 1990
21. SIHER 99d @Id A &9 q HA fha-h Il o9 &) a&d 87

(What is he minimum amount to be deposited in post office saving

account?)
(A) 100 ®TIT (Rs. 100) (B) 50 w4dT (Rs. 50)
(C) 30 wUAT (Rs. 30) (D) 20 ®UAT (Rs. 20)

22. O JAfre = few @rd w® fyear 27
(Highest rate of interest is provided on which Account?)
(A) def @rdl (Current Account)
(B) d=d 9rdr (Saving Account)
(C) ¥ S &Td (Fixed Deposited Account)
(D) 3maxil STHT @rar (Recurring Deposited)
23.  3reel yfaferfiszoer &1 gor 2?
(Quality of an ideal coping is?)
(A) THaaafadr (Economical) (B) 9XeIdr (Simple)
(C) & Ufd (True copy) (D) sTH & 1 (All of these)
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24. ol AqEI® Wl & < fag 2?
(The central point of whole business concern is?)
(A) fdUvH us= (Marketing management)
(B) ¥aradiig ye=er (Personal management)
(C) dred Ud (Production management)
(D) @raterd uew (Office management)
25. XU w2 gRT s 9Hg W Sif¥rdad W& W feaHdl A ol o

! 57
(Maximum number of copies mode at a time by Rotary Machine?)
(A) 500 (B) 150 (©) 50 (D) 35

26. "R ¥ HATad BT 981 He<d © ol U TSl § &g RyT &1
21" g8 AT feaasr 22
(""Office is as important to a business what the main spring to a
watch''- Who said this?)
(A) SR (Dixy) (B) &1 ®Is (Henry Ford)
(C) ward (Feyol) (D) S0 g8a (J. C. Behl)
27. U JAUSH & foIy Sugad TENHI0T yorelt e < 872
(Which filing method is suitable for a teacher?)
(A) <Tuil BIsa (Cardboard file)
(B) Wiest wisa (Folder file)

(C) 9Dl drell BIsel (Arch file)
(D) 3¥99 ®I8d (Shannon file)
28. Ud AW UF BT T 27
(Which one is a characteristic of an ideal letter?)
(A) eedr (Clarity) (B) Xa=wdl (Neatness)
(C) dfer<d (Short) (D) 3 91 (All of these)
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29. g 9T & fay Swiaa sgufafafiezor gomet sia—d 27

(Which is suitable?)
(A) TIRMH (Hectograph) (B) <% (Lithrograph)
(C) =f~Fa (Stencil) (D) e (Rotary)

30. UgBcll R fehal o1 ¥ aral dB1 BT IS TIBRT fHAT TAT?

(In first nationalization of banks what was minimum deposit
amount?)
(A) 50 TRIe ®U (Rs. 50 Crore)
(B) 50 ®RIS ¥ 3Mferd (More than Rs, 50 Crore)
(C) 30 ®xIs ®UY (Rs, 30 Crore)
(D) 100 @RI HUY (Rs. 100 Crore)

31. W4 (& SIHER R SHER & &l aafeq & g9l <3 @1
QY <l © dl IS4 Had o—
(When a post office order to another post office to pay amount to any
person is called?)

(A) #1 3ifSX (Money Order) (B) UREd 3ifex (Potal order)

(C) 91 (Insurance) (D) urEd (Parcel)
32. WU QAT 9@ BT oo s B?
(Granting loan is .......... function of Bank?)

(A) WIS (Primary) (B) g (Secondary)
(C) SmIfST® (Social) (D) 37 ¥ dIs 78l (None of these)
33. =1 9 @ 919 a1 g &1 e faurfia ot T 87

(Which of the following is not a departmental wok in business?)

(A) $HI—fd%HT (Purchase & sale)

(B) HAfGR ¥ g &H=AT (Worship in temple)
(C) I (Planning)
(D) <E@—3iET (Accounting)
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34.  IIHATOTHT HT I 872
(What is the purpose of Index?)

(A) YAl Bl Gerdr A ge (Easy to find letter)

(B) UTEdI & SIH®GIRAT (For customers information)
(C) PHARAT B SIHGIRAT (Employees information)
(D) TH 1 (All of these)
35. AP feled arem 9= giar €7
(Cheque is a written order instrument?)
(A) ¥ ¥f2d (Conditional)
(B) ¥ @@ (Unconditional)
(C) Sudad I (Both (A) and (B))
(D) g ¥ dIs el (None of these)

36. PHcl—Hel db bhadldl o 2

(Damaged cheque is called?)

(A) BRI IF (Blank)

(B) @ifd od (Crossed cheque)

(C) fd&d 9@ (Mutilated cheques)

(D) g ¥ dIs el (None of these)
37. 9% giUc 27

(Bank Draftis a ...... )

(A) T 93 (Quotation Letter) (B) 3M<el U= (Order Letter)

(C) <l (Both (A)& (B)) (D) 374 & @IS -el (None of these)
38. fda & WaM & feu feaqd e Raad e & wu 4 A <

87?
(How many days are allowed as days of grace for payment of a bill?)
(A) 02 (B) 03 (©) 04 (D) 01
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39. yfqat A @ foav doyas o<t fea a3 4 aidl 27
(In which machine analogy watch is instated to count copies?)
(A) TFRI® (Hectograph) (B) el gwiider (Rotary Duplicator)
(C) =f~Fa (Stencil) (D) <flIRIM% (Lithograph)
40. IET HIA I 39S WM @A glasmeEae 87
(While travelling, it is convenient to keep with?)
(A) drg® dd (Bearer Cheque)
(B) ~@ifdhd Td (Crossed Cheque)
(C) d® $e (Bank Draft)
(D) I TF (Traveller's Cheque)
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